&.05¢ 0.018 0.6
e C
%_045:_ ..................................................................... 0.016 -
- . —0.5
%-04;_ """"""""""""""""""""""""""""""""""""" 0.014 -
R T A S A S 0.012 0.4
B et it et IR BE S
E 001_ ]
0.025 -ttt
- 0.008 -
0.02:_ ....................................................................
0.016E b 0.006
0.0 b TR 0.004 -
030010 =] R SO SRRt SONSUORE ORORNE NOOROL B * Fpcl 0.002 ——
Do beeecbeen b b LTS 0
£ ] 3.5 4.5 5.5
x 1:_ ______________________ —=— DQMstep3_TT_CKF
K —— DQMstep3 TT_CKF-tok
0.95Lrri T~ T 2
' 3 3. 5 4 4. 5 5 55 6 6.5

Efficiency vs. cut on dz(PV)
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